0o0ooooooo (00)

gobboboogoboood

gobboboodgbbbdad

00000 a b

000 ged(a,b)

Step 1: OO {r,} 0000

Step 2: rg«—a, 1 —b, n+—0.

Step 3: r,,;=0000 abs(r,) DO0OO

Step 4: ryi0 — (rp hrus1), ne—n+1000 Step3 00

gboobooooobobooan

00000 a,b

000 ged(a,b) O ged(a,b) =ax+by OO0O0O0O00 z,y
Step 1: 00 {r.}, {z.}, {y,} OO0ODO

Step 2:  (ro,zo, %) < (a,1,0), (r1,21,251) < (b,0,1), n < 0.
Step 3: r,,1=0000 Step5 00

Step 4: ¢ — [rp/rus1],
Tpt2 <= Tp — ¢ X Tpqa,
Tpt2 < Tn — ¢ X Tpya,

Yn+2 < Yn — ¢ X Yn+1,
n«<—n-+1000 Step3 00

Step 5: r, <0000 (T, Tn,Yn) < (—Tn, —Zn, —Yn)-
Step 6: (r,,z,,y,) 0000

goboboooon

(1) c=a%b000 ged(a,b) =ged(b,e) DO0DDOOODOO

(2) r,00000D0 Step3000000000000O0OOOOOO
(3) ged(a,0) =abs(e) DO O OO0

4 00 r,=axz,+bxy, 00000000

)
)
)
)



ggn

a = 1234567890

b = 135792468

r[ 0] = 1234567890, x[ 0] = 1, yl[ 0] =
r[ 1] = 135792468, x[ 1] = 0, y[ 1] =
r[ 2] = 12435678, x[ 2] =1, yl[ 2] =
r[ 3] = 11435688, x[ 3] = -10, y[ 3] =
r[ 4] = 999990, x[ 4] = 11, yl[ 4] =
r[ 5] = 435798, x[ 5] = -131, y[ 5] =
r[ 6] = 128394, x[ 6] = 273, y[ 61 =
r[ 7] = 50616, x[ 71 = -950, y[ 71 =
r[ 8] = 27162, x[ 8] = 2173, y[ 8] =
r[ 9] = 23454, x[ 9] = -3123, y[ 9] =
r[10] = 3708, x[10] = 5296, y[10] =
r[11] = 1206, x[11] = -34899, y[11] =
r[12] = 90, x[12] = 109993, y[12] =
r[13] = 36, x[13] = -1464808, y[13] =
r[14] = 18, x[14] = 3039609, y[14] =
00

gcd (1234567890, 135792468) = 18, x = 3039609,

0000000000000 (00000 version )

00000 a,b

000 ged(a,b)

Step 1: 00O ro,r, o 0000
Step 2: rg«—a, ry < b.

Step 3: r =0000 abs(r) D000

0,

1,

-9,

91,

-100,
1191,
-2482,
8637,
-19756,
28393,
-48149,
317287,
-1000010,
13317417,
-27634844,

y = -27634844

Step 4: ro«— (rohry), ro«ry, ri«ro, 000 Step3 00

O00000000000000 (00000 version )

00000 a,b

000 ged(a,b) O ged(a,b) =ax+by 000000 z,y
Step 1: 00 rg, ry, 12, xg, T1, T2, Yo, Y1, Yo 1 OO0
Step 2: (7o, zo,y0) < (a,1,0), (r1,z1,y1) < (b,0,1).
Step 3: m=0000 Stepb 00



Step 4: g — [ro/r],
To <= 7Tog—q X7y,
Ty <— Tog —q X X7,
Y2 < Yo — q¢ X Y1,
To<—=T1, 1 < Tg,

Lo < X1, L1 < Ta,

Yo ~— Y1, Y1 < Y2
000 Step3 00

Step 5: 7o <0000 (ro,70,Y0) < (=70, —T0, —¥Yo0)-
Step 6: (rg,z0,y0) DO 00

0000000000000 (00 version )

00000 a, b

000 ged(a,b)

Step1: b=0000 abs(e) 0000

Step 2: 00O (ba%b)0ODODDODOOOOOODOODOODOOOOOOO

O000000000000O00 (00 version )

00000 a,b
000 ged(a,b) O ged(a,b) =axr+by 000000 2,y
Step 1: b=0000
a0 0000 (¢,1,000000
¢ a<0000 (—a,—1,0) 0000
Step 2: ¢« |a/b], r=a—-bxq0O000O

Step 3: 00 (br) 00000000000000000000 (e, u,v)
oooo

Step4: d=e, z=v, y=u—qxv 000 (d,z,y) D000



